Al

| want to go to the beach it's sunny.

Answer:

She wore a jacket it was cold outside.

Answer:

He couldn't go to the park his parents didn't allow him.
Answer:

| don't like playing soccer | prefer basketball.
Answer:

It was raining, we decided to stay at home.
Answer:

She studied hard she wanted to pass the test.
Answer:

He was tired he couldn't stay awake.

Answer:

| went to the store | needed to buy some groceries.
Answer:

He is allergic to peanuts he avoids eating them.
Answer:

She didn't like the movie it was too long.

Answer:




Answers

| want to go to the beach it's sunny.
Answer: if
She wore a jacket it was cold outside.

Answer: because

He couldn't go to the park his parents didn't allow him.

Answer: because

| don't like playing soccer | prefer basketball.
Answer: but

It was raining, we decided to stay at home.
Answer: so

She studied hard she wanted to pass the test.

Answer: because

He was tired he couldn't stay awake.
Answer: so
| went to the store | needed to buy some groceries.

Answer: because

He is allergic to peanuts he avoids eating them.
Answer: so
She didn't like the movie it was too long.

Answer: because



